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| have a listbox (Year in this image).in this listbox | have two years (94 and 95).when | select 94 or 95 the text box

above the first line chart shows the daily mean of sales in month that selected in second listbox(Month)
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But when | selected two years(94 and 95) the daily mean of sales in month that selected in second listbox(Month)

Will be wrong.because it calculated for two years in same month

sl i Olasite ksl aad <== 4l i3y ek

_ bty e bt <o b oo = 0| [ e g ik < b, o = 0| [ i ot s o s e = B}
] e o ) e Woge | s 5899= dally average is
Month 2 £ SGade 5 400864 e 4D 219051 e 5 18181
‘W 0 ey 2561 vy | we P 1] 0
ittt « Sl dond b mz S o e 258 S dnd e 1788
- « bebvagden 7T bt 3w bt WSt s
(s 9 g i 704 g 1 %2 P 107
Azt “ A s oz A s | e s &3 0
= = @ e e u & &« & e w uw wm wm s w on
35 46 4091 2085 R . o .
S o * i TPV A= st o193 (o yrime— hghof dst == duls G303 o 3
e 7 ool 2 uld | s wel | =0
R —~ ) PO %027 Sk 243 oy 1288 Il
customers o gy ) oy ) proevy | e % 3 E‘ % 2 3 i & £ i
- A 3 3 2 L S E < 3 £ <
=D 50 G 133969 G 0243 Ere 573 LS E i F & £
Toi 5 b 182 b .o bee 15
""’ﬂ;__, 52 Py 14610 e %45 T 436 v v E3 v n 5 . iy p W " (3 » v W
L T 53 10554 10683 Bl 13 K .
Stk e L] L l ] FrATFY A, St g o yie <= NS w3535
s E] ey 75704 ity ) st 4105
end 5% by 7964 = | e ds oz
OS> bt = 1
o Vo £ * s & 2320 293
Poceen £l = 5255 = 766 w 03 (&
phen = g
A ] PERRP 2% Wpmd | am waps g 120
e 7 016 416 - 40
o Ll e [ | 2
i Yy VeTYA TN EYORS e ran.
Sy 0 9 S e
oy 5Ty s Wy
25t My (e s WESy)0 " v ] - » - EY " " w " » v 1
S ey s W - Y oy § o
Spe 510y sl o pd Vii= a8t Slehol g Bl yae <== x> SY gaxe (g3ig o4y 3 w030
DA el ol 50y
s e
e B
iy W) s e = Bl
5 U Sl s 3N Yo Z ¢.
5 Ak e o
5 Wy Wi Ao o
Sty et i » s =t b > >
. .- I == - ||
T W o e

I need to calculate daily means for Year=95 not 94 and 95 and show it in textbox above the line chart.please help me.

Thanks.



